

2525 Lemond St SW, PO Box 998 Owatonna, MN 55060

Phone: 1-855-826-4540 Fax: 1-855-826-5677

www.stem-supplies.com

STEM K-12 Product List

Suggested products to equip a NEW facility

	3D Printing							
		Item #	QTY	Unit Price		Extended Price		
	3D Magic Pen Mega Pack	35-021	1	\$	1,049.00	\$	1,049.00	
0	Creator Max Dual Extrusion 3D Printer	35-878	3	\$	929.00	\$	2,787.00	
TT 19	Adventurer 3 3D Printer	35-895	3	\$	519.00	\$	1,557.00	
	3D Printer Filaments	Varies	3	\$	34.95	\$	104.85	
Act.	Delta WASP 2040 Clay Printer (HS specific recommendation)	35-282	1	\$	4,499.00	\$	4,499.00	
	Mayku FormBox Vacuum Former (HS specific recommendation)	35-272	1	\$	719.00	\$	719.00	
	Banners and Posters							
	STEM Simple Machines Posters and Banners	35-296	1	\$	59.95	\$	59.95	
	STEM Scientific Method Posters and Banners	35-301	1	\$	59.95	\$	59.95	
	STEM Technology Posters and Banners	35-261	1	\$	59.95	\$	59.95	
SATISFACTION SELECTION SEL	What is STEM? Posters and Banners	35-253	1	\$	74.95	\$	74.95	
SCIENCE	Engineering Process Posters	38-815	1	\$	119.00	\$	119.00	
The second secon	Makerspace Rules Poster	35-869	1	\$	14.95	\$	14.95	
	Science Fields Posters	35-897	1	\$	119.00	\$	119.00	
	Technology Fields Posters	35-899	1	\$	119.00	\$	119.00	
	Engineering Fields Posters	35-898	1	\$	119.00	\$	119.00	
	Mathematics Fields Posters	35-898	1	\$	119.00	\$	119.00	
	Books and Curriculun	n						
	Coding from Scratch	35-252	1	\$	14.95	\$	14.95	
STEAM	STEAM Design Challenges Resources Book, Grades K-8	Varies	1	\$	20.95	\$	20.95	
	Year-Round Project-Based Activities for STEM Book (PreK-3)	35-179	1	\$	44.95	\$	44.95	
200	Stepping Into STEM Complete Set	35-184	1	\$	74.95	\$	74.95	
	STEM: Engaging Hands-On Challenges Using Everyday Materials	35-190	1	\$	74.95	\$	74.95	
	SuperScience STEM Instant Activities Kits, Grades 1-3	35-345	1	\$	54.95	\$	54.95	
伊尼岛市	SuperScience STEM Instant Activities Kits, Grades 4-6	35-346	1	\$	54.95	\$	54.95	
	STEAM BrainBox Complete Set	35-749	1	\$	74.95	\$	74.95	
	Standards-Based Science Investigations Book (grades 3-6)	Varies	1	\$	18.95	\$	18.95	
	Makerspace Challenge Sets - Deluxe Set	35-060	1	\$	399.00	\$	399.00	
	Biology and Life Science	ce						
	Hydroponic LED GrowLight	35-324	1	\$	319.00	\$	319.00	
	Scout Digital Microscope	35-685	6	\$	199.00	\$	1,194.00	
100	Prepared Microscope Slides	35-687	6	\$	22.95	\$	137.70	
	Environmental Extreme Plant Growth Kits	35-090	1	\$	629.00	\$	629.00	
	Contagion Crushers Kits (Elementary)	35-872	1	\$	769.00	\$	769.00	
	Mushrooms Maetros Kit - Elementary Curriculum Unit	35-871	1	\$	779.00	\$	779.00	

	Building Kits & Engineerir	ng Suppl	ies		
		Item #	QTY	Unit Price	Extended Price
	Constructures Building Set	35-421	1	\$ 419.00	\$ 419.00
	FabricationStation Basic Makerspace Kit	35-460	1	\$ 259.00	\$ 259.00
	Makerspace Cards	35-849	1	\$ 34.95	\$ 34.95
	Lux Blox STEAM Deluxe Classroom Kit	35-692	1	\$ 369.00	\$ 369.00
27	Octa-Clips Connectors Set	35-010	3	\$ 23.95	\$ 71.85
The state of the s	Cardboard Connectors	35-937	3	\$ 49.95	\$ 149.85
	Strawbees STEAM School Kit	35-312	1	\$ 349.00	\$ 349.00
	Keva Maple Plank Sets - 1,000 Plank Set w/ Bin	35-380	1	\$ 549.00	\$ 549.00
	Coroplast Kit	35-012	6	\$ 13.95	\$ 83.70
	Chemistry				
923 (23)	Periodic Table of Elements, Giant and Magnetic	35-269	1	\$ 129.00	
1001	EvaluWeight, Class Set	35-821	1	\$ 329.00	
arm Da	Happy Atoms Experiment Kit, Class Set	35-194	1	\$ 169.00	\$ 169.00
2 36	Soil Analysis Kits	35-608	1	\$ 309.00	\$ 309.00
F	Oil Spill Junior Kits	35-610	1	\$ 169.00	\$ 169.00
F	Characterisitics of Matter Kit	35-102	1	\$ 199.00	\$ 199.00
	Chem C1000 Kit	35-525	1	\$ 69.95	\$ 69.95
	Dewey Document Camera Stand	35-227	6	\$ 115.00	\$ 690.00
	COVID Response Pro	oducts			
	Teaching Accessories (webcams, microhpones, etc.)	Varies	1	Varies	Varies
	Face Masks and Shields	Varies	1	Varies	Varies
SPACE.	Sanitizer and Disinfectant	1455	-	Varies	Varies
	Gloves and Eye Protection	Varies	1	Varies	Varies
	Drones and Flig	35-694	1	\$ 229.00	\$ 229.00
	CoDrone Pro Class Set	35-318	1	\$ 1,849.00	\$ 1,849.00
	Ready, Set, Code! Programming with Drones Set	35-972	1	\$ 2,999.00	\$ 2,999.00
	CircuitScribe Drone Builder Kit	35-733	8	\$ 64.95	
	Earth and Space Sci	ience			
	Volcanic Eruptions Kit	35-101	1	\$ 135.00	\$ 135.00
	Oceanic Exploration Camp Kit	35-530	1	\$ 609.00	\$ 609.00
	PocketLab Weather Sensor Kit	35-166	6	\$ 109.00	
3000	SolarStudy	35-850	1	\$ 109.00	
	AtMASSphere Mini Air Scale, Class Set	35-920	1	\$ 119.00	
	Earth Layers Magnetic Banner Set	35-865	1	\$ 139.00	\$ 139.00
	Electricity/Circui	ts			
	MakeyMakey Class Kit	35-289	1	\$ 799.00	\$ 799.00
	Snap Circuits 500 Experiments Kit	35-219	2	\$ 109.00	\$ 218.00
	CaddyStack Electricity Kit	35-001	1	\$ 135.00	\$ 135.00
	Squishy Circuits Deluxe Kits	35-171	1	\$ 79.95	
	Paper Circuits Kit	35-054	1	\$ 109.00	\$ 109.00
	Forces and Motion	on			
	SlingStudy Slingshot Mini, Class Set	35-890	1	\$ 199.00	\$ 199.00
1	Balancing ACTion Balance Beam Kits	35-925	2	\$ 179.00	\$ 358.00
	BluTrack Forces & Motion Kits	35-046	3	\$ 189.00	
	Newton's Law Kit Page 2 of 4	35-396	6	\$ 39.95	\$ 239.70
1					

	Hydraulics						
***		Item #	QTY Unit Price		Extended Price		
A STATE OF THE PARTY OF THE PAR	Pathfinders STEM Hydraulics Sets, Class Set	35-132	1	\$	519.00	\$	519.00
	Pumping It Up with Pneumatics Set	35-000	4	\$	39.95	\$	159.80
	Tamping to op war i riodinadioo cot	100 000	•	ΙΨ	00.00	Ψ	100.00
	Magnetism						
	Let's Build Electromagnets Kits - Class Set	35-110	1	\$	175.00	\$	175.00
	Electric Motor Kit	35-075	6	\$	44.95	\$	269.70
	Classroom Attractions Sets	35-072	1	\$	125.00	\$	125.00
W/11/18	Wave Wires Class Set	35-329	1	\$	105.00	\$	105.00
	Mathematics						
	RatioReveal Class Set	35-795	1	\$	279.00	\$	279.00
	ShapeSpace Math Manipulatives Set	35-625	1	\$	249.00	\$	249.00
	GiantTangrams, Class Set	35-935	1	\$	149.00	\$	149.00
· · · · · · · · · · · · · · · · · · ·	MathemActive Tower of Hanoi	35-905	1	\$	329.00	\$	329.00
	<u>Mathopotamia</u>	35-840	1	\$	249.00	\$	249.00
THE REAL PROPERTY.	StudySpin, Class Set	35-885	1	\$	499.00	\$	499.00
	Mango Math Crates - Complete Set for Elementary	35-376	1	\$	2,599.00	\$	2,599.00
	Place Value Twister Cups, Group Set	35-293	1	\$	94.95	\$	94.95
	Rainbow Geoboards Set	35-790	4	\$	24.95	\$	99.80
	Light and Sound						
	ShadowFractions	35-341	3	\$	239.00	\$	717.00
	Light, Shadow, and Color Group Set	35-334	1	\$	189.00	\$	189.00
	DiscoverKits LED Ray Box: Reflection & Refraction Kit	35-003	4	\$	84.95	\$	339.80
TI	Laser Blox, Complete Set	35-340	2	\$	259.00	\$	518.00
	ToneTest Sound Wave Kit	36-615	1	\$	169.00	\$	169.00
	Renewable Energy	T					
	Alternative Education Wind, Solar, Hydro & Electricity Lab Kit	35-277	1	\$	165.00	\$	165.00
	Horizon Energy Box	35-767	1	\$	1,299.00	\$	1,299.00
	PEM Fuel Cells	35-770	1	\$	259.00	\$	259.00
	Solar Science Station Kit	35-053	5	\$	54.95	\$	274.75
	Robotics and Coding	a					
	Ozobot Evo Class Set	35-240	1	\$	2,749.00	\$	2,749.00
	Wonder Workshop Elementary Robot Packs, multiple options	Varies	1		Starting a	t \$4	25.00
6	Wonder Workshop Middle School Class Sets	35-827	1	\$	3,499.00	\$	3,499.00
	Cubelets Mini Makers Class Set	35-117	1	\$	1,549.00	\$	1,549.00
	Hummingbird Bit Sets, Class Set	35-679	1	\$	2,599.00	\$	2,599.00
	Robotis Mini Darwin Robot Kit	35-347	3	\$	529.00	\$	1,587.00
	Simple and Compley Mac	hinoo					
	Simple and Complex Mad		4	φ	160.00	φ	160.00
- Sec	LearnLever Mini Lever Class Set	35-799	1	\$	169.00	\$	169.00
罗品。	LearnLauncher Mini Catapult Class Set	35-803	2	\$	279.00	\$	279.00
31	ForceCource Mini Pulley Group Set	35-855		\$	299.00	\$	598.00
	StudyScale Scale Set	35-490	1	\$	229.00	\$	229.00
	InclineInvestigation Pulloya in Metion Set	35-930	3	\$	269.00	\$	807.00
1	Pulleys in Motion Set Mechanics Wheels, Axles & Inclined Planes Kit	35-005 35-391	1	\$	84.95 39.95	\$	84.95 39.95
urx NC		35-391	ı	Ψ	39.95	Φ	<u>ა</u> ყ.ყე
	Page 3 of 4						

	1 Pack per Student Recommen	Item #	QTY	d learning) QTY Unit Price			Extended		
The second	At-Home STEAM Pack	36-502	Varion	Φ	89.95		Price Varies		
Strawbern Sawyhop	At-Home Circuit Starter Pack	36-504			145.00		Varies		
	Engineering Starter Pack	36-505			99.95		Varies		
	At-Home Math Pack	36-503			59.95		Varies		
	STEM Sets								
	Discover STEM LAB Kit Grades 3-4 Kit	35-143	1	\$	1,949.00	\$	1,949.00		
4	Discover STEM LAB Grades 5-6 Kit	35-144	1	\$	1,949.00	\$	1,949.00		
		•							
	Storage, Furniture, and	Tools							
	SmartStudy Team Innovator Tables - Whiteboard/Wood	59-044	4	\$	749.00	\$	2,996.00		
	<u>CreateKit Cubbie System</u>	36-670	1	\$	999.00	\$	999.00		
	<u>Tech Tub2 Storage Tubs, 10 Devices</u>	35-027	2	\$	579.00	\$	1,158.00		
	Makerspace Robotics Charging Station	35-230	1	\$	349.00	\$	349.00		
3	Mobile 24-Tray Tower	35-175	1	\$	619.00	\$	619.00		
	3D Printer Cart	35-023	3	\$	619.00	\$	1,857.00		
	Maker Idea Board	35-788	2	\$	979.00	\$	1,958.00		
	<u>Drawer Mobile Organizer</u>	35-623	2	\$	89.95	\$	179.90		
	Fabrication Makerspace Deluxe Set	35-461	1	\$	629.00	\$	629.00		
	Makerspace Tool Storage Cart	35-960	1	\$	589.00	\$	589.00		
	Makerspace Tool Bags and Kit - Basic	35-640	1	\$	299.00	\$	299.00		
	Makerspace Tool Bags and Kit - Deluxe	35-641	1	\$	499.00	\$	499.00		
	Safety Glasses Storage	35-255	1	\$	84.95	\$	84.95		
	Slab Dream Lab Walls - sizes and colors varies	Varies	1		Starts a	at \$3	09		
	Video Production and Virtua		lity						
	Claymation Camp Kit	35-138	1	\$	1,319.00	\$	1,319.00		
C P	STEM Green Screen Production Kit	35-020	1	\$	209.00	\$	209.00		
7~	RobotLab Virtual Reality Packs, Choice of 10, 20, or 30 devices	Varies	1 1		Storto at (\$3,999.00			